
KCF3050
REV. 1
6/18/24

PEDESTAL PATIO TABLE
ASSEMBLY INSTRUCTIONS



MIDDLE BOARD
QTY. = 4

END BOARD
QTY. = 2

THIS EDGE IS TO THE OUTSIDE

REQUIRED TOOLS
(NOT INCLUDED)
#2 PHILIPS SCREWDRIVER
POWER DRILL
#2 PHILLIPS BIT
3/16" ALLEN WRENCH

END BOARD IS
DIFFERENT FROM
MIDDLE BOARD
BY THE PLACEMENT
OF THE HOLES ON
THE END.

PEDESTAL PATIO TABLE
ASSEMBLY INSTRUCTIONS

BOARDS FOR
PEDESTAL TABLE 1/3



PEDESTAL TABLE TOP
QTY. = 1

PEDESTAL TABLE LEG
QTY. = 1

5/16"-18 BUTTON 
HEAD SCREW
QTY. = 4

#10 X 3/4" PAN 
HEAD SCREW
QTY. = 36

PEDESTAL PATIO TABLE
ASSEMBLY INSTRUCTIONS

METAL PARTS
AND HARDWARE 2/3 



A
PEDESTAL LEG

PEDESTAL TABLE TOP
5/16" BUTTON HEAD SCREW

#10 X 3/4" PANHEAD SCREW

END BOARD

END BOARD

MIDDLE BOARD
DETAIL A

SCALE 1 : 6

STEP 1:  ON A CLEAN, SMOOTH, AND FLAT SURFACE, LAY 
             EACH BOARD OUT AS SHOWN WITH HOLES FACING
             UP.  

STEP 2:  USING THE INSTALLATION TOOL (PROVIDED), PLACE
              SMALL END OF TOOL INTO HOLE TO HELP ALIGN 
              EACH SCREW.  SEE DETAIL A BELOW.  USE REGULAR 
             #2 PHILLIPS SCREW DRIVER TO START EACH SCREW. 
 
STEP 3:  WHEN EACH BOARD IS ATTACHED AND EACH 3/4"
              SCREW IS STARTED, FOLLOW UP WITH A #2 BIT
              IN A POWER DRILL BUT DON'T OVERDRIVE THEM.

STEP 4:  PLACE PEDESTAL LEG ONTO ASSEMBLED TABLE TOP
              AS SHOWN.  START EACH 5/16" BUTTON-HEAD 
              SCREW BY HAND, THEN TIGHTEN WITH 3/16" 
              ALLEN WRENCH.

PEDESTAL PATIO TABLE
ASSEMBLY INSTRUCTIONS

ATTACH 
TABLE LEG 3/3 



 29.020 

29.520
(FEET ARE

ADJUSTABLE)

 33.625 

 33.625 

 27.000 

KCF3050
REV. 1
6/18/24

PEDESTAL PATIO TABLE
SPECS


	COVER
	Drawing View1

	PG 1
	Drawing View3
	Drawing View4

	PG 2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8

	PG 3
	Drawing View10
	Detail View A (1 : 6)

	SPECS
	Drawing View11
	Drawing View13
	Drawing View14


